K3 — 1. Bl Ky f AT — 2 B I OBERE R ER

B FrrE H JEYEME| 172 | 220 | 2347 | 2447 | 2547 i | 264 i | 274 | 284F- | 294 B | f K| I i [l £
1 | 100 — 15,714
2 | KGH Ak — £3s i | R =3¢ =3¢ =3 =3 e 1=,1A4
3 [rrsvagoEoitw 0.003 | 0.0015 1lm], 34
4 KERK FED/LEY) 0.0005 | 0.00025 1[m] /34
5 [zLo ROZEDILEY 0.01 0.005 1[8], 34
6 PPk OZFDILEY 0.01 0.005 1[=], 34
7 [eBROEDILAEY 0.01 0.005 1[A], 34
8 |~ fizesib e 0.05 0.025 1[A], 34
ol BRI S 0.04 0.02 1m] /3
10 o 7oA A4 > RO L 7| 0.01 0.005 1=],3H
11 |gmefe s & K OVl iE % | 10 5] 01 0.1 0.1 0.1 01 |1=,3H
12 |7 v HE R OZFDILEY 0.8 0.4 1[A], 34
13 | R FE L OZEDILEY 1.0 0.5 1[=], 34
14 WU bR 0.002 0.001 1=], 34
15 |1.4- A4 0.05 0.025 1lm] /34F
16 fr-1.2-v7muzrry g ovgua-1,2-v sy 0.04 0.02 1\] /34
17 [ raarzy 0.02 0.01 1[m], 34
18 |7 oropzFL 0.01 0.005 1[=], 34
19 |[Fy 7T FL 0.01 0.005 1[A],/ 34
20 | B 0.01 0.005 1[m] 34
21 | 0.6 0.3 0.07 011 | 0.09 | 0.07 | 0.06 | 0.06 | 0.06 0.11 |1/al,3H
22 |7 o 0.02 0.01 1[ml,3H
23 |7 oo 4 0.06 0.03| 0.005 0.006 | 0.005 | 0.005 | 0.009 | 0.006 | 0.005 | 0.009 |1[=],3H
24 |27 o 0.03 0.015| 0.004 | 0.003 | 0.004 | 0.004 | 0.006 | 0.007 | 0.003 | 0.003 | 0.007 |1[5],3H
25 |7 uEsan Ay 0.1 0.05] 0.002 | 0.002 | 0.002 | 0.002 | 0.001 | 0.002 | 0.003 | 0.001 | 0.003 |15, 34
26 | 1% 0.01 0.005 18] 3 H
27 [y Az 0.1 0.05| 0.009 | 0.010 | 0.011 | 0.020 | 0.008 | 0.012 | 0.013 | 0.008 | 0.013 |17, 3
28 |7t R 0.03 0.015| 0.003 | 0.004 | 0.004 | 0.004 | 0.005 | 0.007 | 0.004 | 0.004 | 0.007 |1[5],3/]
29 |7 ey ran Az 0.03 0.015] 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.004 | 0.003 | 0.004 |1[5],3H
30 |7 mEnmL L 0.09 0.045 0.001 0.001 |1[=1,3H
31 |k a7 rTeR 0.08 0.04 1[8],3H
32 |Hsn K O DILE 1.0 0.5 o0.01 0.006 0.008 0.01 |15, 34
BNTAR=T LR OZDILEY) 0.2 0.1 o0.07 0.03 0.03 0.07 |18,/ 34
34 |8k L OEDILEY) 0.3 0.15 1A,/ 34
35 |8 & O DALE W) 1.0 0.5 115] /34
36 | R AR OV EDIL S W) 200 100 4.9 41 45 49 1B,/ 34
37 | R OO 0.05 0.025 1=],/ 34
38 | LA A 200 100| 4.4 4.3 5.3 4.7 5.2 5.2 5.1 5.2 53 |1[F,1H
39 [y, =7 3y 0 (REE) | 300 150 35 29 36 36 |1[m],/34F
40 |ZRTR W 500 250] 90 86 88 90 |1l[ml34F
a1 |fa s A FETE LA 0.2 0.1 1lm] 34F
J7) DR o S 0.00001 |0.000005 1[A], 34
43 |2-AF LAV R R A — I 0.00001]0.000005 1[=],/ 34
44 VFEA A S mTE Al 0.02 0.01 1a] /34
45 |7 =/ — V48 0.005 | 0.0025 1A,/ 34
46 |5t (AR (TOC) &) | 3 — 0.4 0.3 0.5 0.3 0.4 0.4 0.3 0.2 05 |18, 1A
47 |pHfE 58~86| — 7.2 7.2 7.7 7.6 7.6 7.7 7.8 7.6 7.8 |1A,1H
48 |k FLH TR — Fuksel | Bkl | Buezel | Bekzel | Bkl | Bskel | Eukel | Bl 1=, 1H
49 | 2K EXCRGAN — wmesL | marl | Resl | el | el | Renl | Rl | #8400 1[a], 1A
50 |t 5 — 18], 1H
51 | 2 — 0.2 0.1 0.1 02 [1B]1H
s R H 0.5 0.8 0.6 0.5 0.5 0.5 0.5 0.6 0.8 |15, 1H
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K32, —KEKGRET 2 BIOBRERERER

B FrrE H JEYEME| 172 | 220 | 2347 | 2447 | 2547 i | 264 i | 274 | 284F- | 294 B | f K| I i [l £
1 | 100 — 1 1 |1m|1H
2 | KGH Ak — £3s i | R =3¢ =3¢ k| BRME i 1=,1A4
3 [rrsvagoEoitw 0.003 | 0.0015 1lm], 34
4 KERK FED/LEY) 0.0005 | 0.00025 1[m] /34
5 [zLo ROZEDILEY 0.01 0.005 1[8], 34
6 PPk OZFDILEY 0.01 0.005 1[=], 34
7 [eBROEDILAEY 0.01 0.005 1[A], 34
8 |~ fizesib e 0.05 0.025 1[A], 34
ol BRI S 0.04 0.02 1m] /3
10 o 7oA A4 > RO L 7| 0.01 0.005 1=],3H
11 |gmefe s & K OVl iE % | 10 5] 03 0.6 0.4 0.4 06 |15,73H
12 |7 v HE R OZFDILEY 0.8 0.4 1[A], 34
13 | R HE R EDOLEY 1.0 0.5| 0.17 0.22 0.46 0.46 |1[5], 34
14 WU bR 0.002 0.001 1=], 34
15 |1.4- A4 0.05 0.025 1lm] /34F
16 fr-1,2-v7mzsiy ooy a-1,2-v ezt | 0.04 0.02 1\] /34
17 [ raarzy 0.02 0.01 1[m] 34
18 |7 oropzFL 0.01 0.005 1[=], 34
19 |[Fy 7T FL 0.01 0.005 1[A],/ 34
20 | B 0.01 0.005 1[m] 34
21 |Gk 0.6 0.3] 013 015 | 023 | 019 | 013 | 015 | 016 | 0.11 | 023 |1[al, 3/
22 |7 o 0.02 0.01 0.004 0.004 |1[a],3H
23 l7amk o 0.06 0.03| 0.007 | 0.009 | 0.004 | 0.01 | 0.007 | 0.028 | 0.01 | 0.012 | 0.028 |1[5],73H
24 |7 aafe 0.03 0.015| 0.005 | 0.006 | 0.002 | 0.004 | 0.006 | 0.015 | 0.007 | 0.004 | 0.015 |1[5],3
25 |7 uEsan Ay 0.1 0.05| 0.005 | 0.006 | 0.009 | 0.009 | 0.007 | 0.01 | 0.013 | 0.01 | 0.013 |1[5,3H
26 | 1% 0.01 0.005 18] 3 H
27 [y Az 0.1 0.05| 0.019 | 0.023 | 0.022 | 0.024 | 0.022 | 0.045 | 0.041 | 0.034 | 0.045 |1[5],73H
28 |7t R 0.03 0.015| 0.003 | 0.006 0.006 | 0.005 | 0.019 | 0.007 | 0.008 | 0.019 |1[a],"3H
29 |7 ey ran Az 0.03 0.015] 0.007 | 0.008 | 0.007 | 0.009 | 0.009 | 0.013 | 0.016 | 0.012 | 0.016 |1[5],"3H
30 |7 mEnmL L 0.09 0.045 0.002 | 0.003 0.001 | 0.002 | 0.002 | 0.003 |1[=],73H
31 |k a7 rTeR 0.08 0.04 1[8],3H
32 |Hsn K O DILE 1.0 0.5] 0.006 0.006 |1[=],34~
BNTAR=T LR OZDILEY) 0.2 0.1] o011 004 | 005 | 006 | 007 | 009 | 0.05 0.11 |1[A], 34
34 |8k L OEDILEY) 0.3 0.15 1A,/ 34
35 |8 & O DALE W) 1.0 0.5 115] /34
36 | NI AR OEDILE Y 200 100] 13 12 18 18 |1[F], 3%
37 | R OO 0.05 0.025 1=],/ 34
38 |l 14 200 100] 321 63.1 | 366 | 418 | 422 | 474 | 575 | 327 | 63.1 |1[m, 1A
39 [y, =7 3y 0 (REE) | 300 150 42 40 59 59 |1[m],34F
40 |FRRTE Y 500 250 112 107 159 159 |1[a],/34F
41 /a1 A FmTETER 0.2 0.1 1lm] 34F
J7) DR o S 0.00001 |0.000005 1[A], 34
43 |2-AF VAV RV A — L 0.00001]0.000005 0.000002 0.000002] 1[F] /34
44 VFEA A S mTE Al 0.02 0.01 1a] /34
45 |7 =/ — VB 0.005 | 0.0025 1lm]/34F
46 |5t (AR (TOC) &) | 3 — 0.7 0.9 0.8 0.8 1.1 1.2 0.9 0.8 1.2 |18,/ 1H
47 |pHfE 58~86| — 7.2 7.2 75 75 75 75 7.6 7.8 7.8 |1, 1H
48 |k FLH TR — Fuksel | Bkl | Buezel | Bekzel | Bkl | Bskel | Eukel | Bl 1=, 1H
49 | 2K EXCRGAN — wmesL | marl | Resl | el | el | Renl | Rl | #8400 1[a], 1A
50 |t 5 — 0.7 0.9 0.6 1.4 0.7 1.4 |18/ 1H
51 | 2 — 0.5 0.1 0.1 0.2 05 [1[B] 1H
s R H 0.4 0.8 0.9 0.8 0.6 0.8 0.7 0.3 09 |1[=,1H
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#3—3. HIA Ky fdE T — 2 BLOMERERER

B FrrE H JEYEME| 172 | 220 | 2347 | 2447 | 2547 i | 264 i | 274 | 284F- | 294 B | f K| I i [l £
1 | 100 — 15,714
2 | KGH Ak — i | R =3¢ =3¢ k| BRME i 1=,1A4
3 |FRIVAROZDILEY 0.003 | 0.0015 1[A], 34
4 KERK FED/LEY) 0.0005 | 0.00025 1[m] /34
5 [zLo ROZEDILEY 0.01 0.005 1[8], 34
6 PPk OZFDILEY 0.01 0.005 1[=], 34
7 [eBROEDILAEY 0.01 0.005 1[A], 34
8 |~ fizesib e 0.05 0.025 1[A], 34
ol BRI S 0.04 0.02 1m] /3
10 o 7oA A4 > RO L 7| 0.01 0.005 0.002 0.002 |1[=],3H
11 |gmefe s & K OVl iE % | 10 5 0.6 0.3 0.4 06 |15,73H
12 |7 v HE R OZFDILEY 0.8 0.4 0.05 0.06 0.06 |1n],/ 34
13 | R FE L OZEDILEY 1.0 0.5 1[=], 34
14 WU bR 0.002 0.001 1=], 34
15 |1.4- A4 0.05 0.025 1lm] /34F
16 fr-1.2-v7muzrry g ovgua-1,2-v sy 0.04 0.02 1\] /34
17 [ raarzy 0.02 0.01 1[m], 34
18 |7 oropzFL 0.01 0.005 1[=], 34
19 |[Fy 7T FL 0.01 0.005 1[A],/ 34
20 | B 0.01 0.005 1[m] 34
21 | 0.6 0.3 014 | 030 | 018 | 019 | 028 | 032 | 0.14 | 0.32 |1l 3/
22 |7 o 0.02 0.01 1[ml,3H
23 |7 oo 4 0.06 0.03 0.001 | 0.001 0.002 0.002 |1[1],3H
24 |y aafg 0.03 0.015 0 |1m, 3H
25 |7 uEsan Ay 0.1 0.05 0.001 | 0.001 | 0.002 | 0.001 | 0.002 | 0.001 | 0.001 | 0.002 |1[=],3H
26 | 1% 0.01 0.005 18] 3 H
27 [y Az 0.1 0.05 0.001 | 0.001 | 0.005 | 0.001 | 0.006 | 0.001 0.006 |1[1],3H
28 [N ookl 0.03 0.015 0.000 |171,3H
29 |7 ey ran Az 0.03 0.015 0.002 0.002 0.002 |1[d1,3H
30 |7 mEnmL L 0.09 0.045 0.003 0.003 |1[=1,3H
31 |k a7 rTeR 0.08 0.04 1[8],3H
32 |Hsn K O DILE 1.0 0.5 0 |1 34%
BNTAR=T LR OZDILEY) 0.2 0.1 008 | 008 | 007 | 0.07 | 007 | 0.02 0.08 |1[8] 14
34 |8k L OEDILEY) 0.3 0.15 1A,/ 34
35 |8 & O DALE W) 1.0 0.5 115] /34
36 | TR LR DL S 200 100 4.9 5.6 56 |1[E],34
37 | R OO 0.05 0.025 1=],/ 34
38 | LA A 200 100 5.2 5.3 4.7 4.9 6.8 6.6 7.2 7.2 |1\, 1A4
39 | n ~ s Ry N () | 300 150 32 32 32 |1E]34F
40 |73 TR W) 500 250 81 90 90 |1[m],34E
a1 |fa s A FETE LA 0.2 0.1 1lm] 34F
J7) DR o S 0.00001 |0.000005 1=l 14
43 |2-AF LAV R R A — I 0.00001]0.000005 10=], 14
44 VFEA A S mTE Al 0.02 0.01 1a] /34
45 |7 =/ — kg 0.005 | 0.0025 1lm]/34F
46 | HHsW (2R (TOC) &) | 3 — 05 0.5 0.2 0.2 05 |1, 1H
47 |pHfE 58~86| — 7.2 7.6 7.6 7.6 7.6 7.7 7.7 7.7 |1[E,1H
48 |k FLH TR — Skl | Bkl | Skl | Bkl | Bekzal | Bkl | Bkl 1=, 1H
49 | 2K EXCRGAN — wERL | BaEaL | BREAL| BRaL | REaL | REAL | BR2L 1[a], 1A
50 |t 5 — 0.6 06 |1, 1H
51 | 2 — 0.1 0.1 01 [1=]1H
s R H 1.0 0.9 0.8 0.8 1.0 0.8 0.5 1.0 |1\, 14
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